(*+ FRANCESCA CAMPI =)

(* 1 %)
FIX_, y_1 1= {X*y, X*2xy}

ree ] := {'\/l+t2 , t}

FIt ] =F[X,y] /. {X>r[t][[1]],y->r[t][[2]]}
fs[t_] = Dot[F[t], r™[t]]

ftvaet?, ¢ (1417)}

t2 4t (1+t2)

Integrate[fs[t], {t, -2, 2}]

16

3

(* 2 *)
FIX_,VY_]::={2x+1, X%y}

eql = X2 +y"2 = 1;
€eq2 = Sart[3] Yy ==X +1;
Solve[{eql, eq2}, {X, y}]

(oL v 01, fxo s,y 2]

rl[it ] := {Cos[t], Sin[t]}
r2[(t_] = {t, (t+1) /Sqrt[3]}

FI[t_ ] =F[X,y] /- {X->r1[t][[1]],y-»>r1[€][[2]]}
F2[t ] =F[X, y] /- {X->r2[t][[1]], y-»r2[t][[2]]}
fsl[t_] = Dot[fl[t], r1~[t]]
fs2[t_] = Dot[f2[t], r2"[t]]

{1+2Cos[t], Cos[t]Sin[t]}
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Cos[t]2Sin[t]-(1+2Cos[t])Sinft]

1
1+2t +—t (1+1)
3




2 Untitled-1

In[48]:=

Out[48]=

Integrate[fsl[t], {t, -x, n/3}] + Integrate[fs2[t], {t, 1/2, -1}]




